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LSE-1 : CELL BIOLOGY
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Note : Question no. 1 is compulsory. Attempt any four

questions from question no. 2 to 6.

1.	 (a) Name the organelle responsible for each of 	 4
the following processes in an eucaryotic cell :

DNA replication

Auto phagy

Electron transfer during oxidative
phosphorylation

Photosynthesis

(b) Give one example of each of the following	 4
types of biomolecules :

Monosaccharide

Purine

Polynucleotide with ribose sugar

(iv) Derived lipid
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(c) (i) Name the	 technique used for	 2
separation	 of different cellular
organelles.

(ii) Name the dye that stains all the
proteins.

Describe the molecular organization of cell 10
membranes.

Briefly explain any two of the following :	 5+5
Enzyme specificity
Synthesis of fatty acids

(c) Molecular theory of recombination

Describe the steps of peptide chain synthesis in 10
their correct sequence.

With the help of a schematic diagram, give an 10
account of tricarboxylic acid cycle (TCA cycle).
How many molecules of reduced co-enzymes and
ATP are formed in one round of TCA cycle ?

6.	 (a) Giving the example of slime mould amoebae, 	 5
describe the phenomena of intercellular
recognition aggregation.

	

(b) (i) Enlist five types of mammalian white 	 21/2
blood cells.

(ii) Describe	 the	 structure	 of	 21/2
communication	 junction	 in
multicellular plants.
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